& (200) M1 2+ 2 (210) B4 H A 214 B (211) WAl +o = (211-02) 2% LENCER-ED
o - S INE I D
o oo & =
Z- 28 = o & %] B A
200
RS 142,232,746 106,272,333 35,960,413
210
e PNESP LI 24,000,163 24,382,009 372,936
211
THarlth ¢l 462,943 446,627 16,316
211-02
IRWLUHE 462,943 446,627 16,316 c SRES HAAUHE 201,500
STOHIE BAILUR 6,000
SEMAEE SXYUE 8,605
NP2 D Y2 15,000
CEAUBRNAL TRUL ABUER 145,080
oF LS5 ASAIER 7,262
COITIES ZHAUR 6,000
oHAE 2XYU2 63,496
212
AE2 4 7,002,683 6,908,813 184,070
212-01
cRA8R 270,000 270,000 DoXgs BaR 270,000
212-02
SEARR 5,820,000 5,757,000 63,000 0 5tEE A8 2 670,000
oSET WHRB 5, 150,000
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ZH: (200) NI 2l =€ 2 (210)Z &AM+ g:(215)d RS+ F:(215-01)*1E3+¢ [M][Ee ]
o - S INE I D
o & o & 2 | ES
Z-u-8 = o oA %z oA
215
ESEME =gl 3,280,000 3,290,670 A 10,670
215-01
SR = ool 3,280,000 3,290,670 A10,670 2B RE= 17,000,000,000& x 10% = 1,700,000
cHAQAWE U3 1,200,000,0002! x 10% = 120,000
CMENN B B3 = 680,000
oxTNM 2L = 780,000
216
0l K42l 10,125,300 11,225,300, 1,100,000
216-01
23030 Xt 10,125,300 10,025,300 100,000 330 S0l Xt =& = 10,125,300
220
IINEVIEIES ] 118,223,583 81,890,234 36,333,349
221
K &FOH 2 ==& 3,560,000 3,360,000 200,000
221-01
=S MAHOH 2= 360,000 360,000 Olo== M AHOH 2= & = 360,000
221-02
SF M A0 Z =2 3,200,000 3,000,000 200,000/ @ == X &HOH 2E =2 = 200,000
SHERX 0= = 3,000,000
222
=HAHL NS 108,000,000 72,000,000 36,000,000
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ZH: (200) NI 2l =€ 2+ (220) 2 Al E Al 2l 5= gi(22)=MALH= F:(222-01)=MNAH 03 (M H]

B = S INE B L] D
o oo & = | ES
Z- 28 = o & %] B A
222-01
ENH L0 108,000,000, 72,000,000 36,000,000 © &= Al H 2013 = 108,000,000
226
SN234Y 4,000,000 4,000,000 0
226-01
DIHS R 28l 442 4,000,000 4,000,000 DosHEFANY SN2 (F3) = 4,000,000
227
sga 1,868,791 1,812,247 56,544
227-01
X SHRI 2R S 3 1,866,791 1,810,247 56,544 o A2 TS| LR = 1,200,000
SOUBUEAL NBRES = 450,000
oAYstD BS2YLYS = 216,791
227-02
SRR 2,000 2,000 Oo+MRATLRES 5,0008 x 400 = 2,000
228
B4l 694,792 667,987 26,805
228-01
== 11,200 9,200 2,000 cENY HAHZ (WSS 3, HHSE 1) = 7,000
SHII2M N2 = 2,600
CE8E AU = 1,600
228-04
BEHR 2 433,375 427,500 5,875 cUDIB#ZSHE SIBIMENR = 2,000
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